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?N� �;=� <>=M=OLN�� M;1<�=>� U=� ;1X=� O=O�M=O� �2Z=� �=N=>10� T=1��>=�� 2T�

A=�=>ZLN1N���1NO��;=L>�I=LN�.�

82U�U=�U1N���2�<=N=�>1�=�T�>�;=>�LN�2��;=L>�N1��>=�1NO���>�M��>=.��

?�� L�� =��=N�L10� T2>� ��M;� <=N=�>1�L2N� �2� 2MM�>�� �;1�� �;=� �20��L2N� �2� �;=�

T2002ULN���U2�<>2R0=Z��R=�T2�NOY�

?.�e=�;1X=��==N�U;1���;=�R=LN��2T�M2NM>=�=� �;LN���>=100P�M2N�L���� LN�i�1NO�

=\<01LN=O� �;L�� LN� �=>Z��2T� �;=� =\=Z<0LTLM1�L2N�2T�O=�=>ZLN1N��.�e;1���N2U��O2=��

�;=� R=LN�� 2T� O=�=>ZLN1N��� �;=Z�=0X=�� M2N�L��� LNd� G2U� 1>=� U=� �2� 1N10Pl=� �;=�

ML>M�Z��1NM=��;1��1�M=>�1LN�O=�=>ZLN1N��;1��]<>LZ1>L0P^��;=�T2>Z�2T�R=LN��U;LM;�L��

;1�d�

??.�A=�=>ZLN1N��� 1>=�=��=N�L100P�O=�=>ZLN1R0=�1NO�O=�=>ZLN1�=.�e;1��O2=��

�;=�M2>>=�<2NOLN����>�M��>LN��M2NN=M�L2N�]M100�L��mA[A�M2NN=M�L2Nk^�M2N�L���LNd�

9;=�=� �U2� <>2R0=Z�� M1N� R=� �;2UN� �2� R=� LN=\�>LM1R0P� M2NN=M�=O.� ?NO==O��

�;=P� 1OZL��� 1�� L�� UL00� R=� �==N�� 2T� 2N=� M2ZZ2N� �20��L2Nj�U;LM;� L�� �;=� >=1�2N� 2T�

<���LN�� <=>�L��=N�0P� �2�=�;=>� �;=� �=>Z�� m��>�M��>=k� 1NO� mN1��>=k� LN� >=�<=M�� �2�

O=�=>ZLN1N��.�
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e=�;20O� �;1��� LN��=N=>10��<>2R0=Z� ?�O=<=NO��RP�N1��>=� T2>� L��� �20��L2N�2N�

<>2R0=Z�??.��9;=�<>=ML�=�M;1>1M�=>�2T��;L��O=<=NO=NM=�UL00�R=M2Z=�Z1NLT=���U;=N�

�;=��20��L2N�2T��;=�<>2R0=Z��;1��R==N�1M;L=X=O.�I���M=>�1LN��=N=>10�<2LN���M1N�R=�

=��1R0L�;=O�LN�1OX1NM=�2T��;=L>�TLN10��20��L2N��1NO��2��;=�=�U=�N2U���>N.��
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�;L�� OL��=>�1�L2Nj� T2>� 1N� 1R�20��=0P� O=�=>ZLN1R0=� O=�=>ZLN1N�� M1NN2�� ;1X=� �;=� R=LN�� L�� ;1�� LN�

XL>��=�2T�L�����1NOLN��LN�1�A[A�M2NN=M�L2N��2�1�;L�;=>�O=�=>ZLN1R0=.�
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:�<<2�=� �;1�� U;1�� U=� M01LZ=O� L�� N2�� �2.� 9;L�� U2�0O� Z=1N� �;1�� A[A�

M2NN=M�L2N��;20O�1Z2N��O=�=>ZLN1N���1��1� >=��0��2T� �;=� 01��=>k���R=LN��U;1���;=P�

1>=j�T2>�2N=�M1NN2��<2��LR0P�Z1LN�1LN��;1���;=�h�=��L2N�1R2����;=�;20OLN��2T�A[A�

M2NN=M�L2N��L���2�100P�L>>=0=X1N���2��;=�R=LN��2T�O=�=>ZLN1N�����;1��L���T2>�LN��1NM=��

�;1�� 1� O=�=>ZLN1�=k�� T100LN�� �NO=>� L��� <>2\LZ1�=� O=�=>ZLN1R0=� ;1�� N2�;LN�� �2� O2�

UL�;��;=L>�>=�<=M�LX=�N1��>=�j�1NO��;L��R=LN��=\M0�O=O��L��L��=XLO=N���;1��LT��;=�R=LN��

2T�O=�=>ZLN1N���O2=��N2����������O=<=NO�2N��;=L>�A[A�M2NN=M�L2N����;=N�L��Z����

R=��;=�M1�=��;1���;=P�1>=�A[A�M2NN=M�=O�LN�XL>��=�2T��;=L>�R=LN��U;1���;=P�1>=.��

9;��� �;=� R=LN�� 2T� O=�=>ZLN1N��� M2�0O� N2��� LN� 1MM2>O1NM=� UL�;� �;=�

��<<2�L�L2N� =\1ZLN=O�� R=� O�=� LN� 1NP� >=�<=M�� 1NO�U1P� �2� �;=L>� ��1NOLN�� LN�A[A�

M2NN=M�L2N�.� I��� �;=� R=LN�� 2T� O=�=>ZLN1N��� L�� M2Z<0=�=0P� LNO=<=NO=N�� 2T� �;=L>�

M2NN=M�L2N��UL�;��;=�e2>0O�2T�M2NM>=�=N=��jQ�T�>�;=>Z2>=��L��L��LNO=<=NO=N��2T�1NP�

2�;=>�;L�;=>�>=10Z�1M�LN���2U1>O���;=�e2>0O�2T�O=�=>ZLN1N���LN�1�U1P�1N102�2���

�2��;1��LN�U;LM;��;=�01��=>�e2>0O�1M����2U1>O���;=�>=10Z�2T�M2NM>=�=N=��.4�

62N�=h�=N�0P�� �;=�R=LN��2T�O=�=>ZLN1N��� M1NN2��R=�O=>LX=O�1��100� T>2Z�1N�

=\�>1N=2���<>LNML<0=.�I��� L�����
�R=�O=>LX=O��2Z=;2U�1NO� T>2Z��2Z=U;=>=Y� T2>�

R=LN��� �;=� <1>�LM�01>� R=LN�� 2T� <1>�LM�01>� 2RS=M���� L�� N2�� �=0T[=\<01N1�2>P� 1NO��

1MM2>OLN�� �2� 2�>� �;=2>P�� L�� L�� N2�� 1R�20��=0P��0�LZ1�=0P� T�NO1Z=N�10� LN� 1� M=>�1LN�

�=N�=.W��NO�R=�LO=���2N��;=�M2N�>1>P���<<2�L�L2N��=1M;�O=�=>ZLN1N�����
���������
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��9;L��>=T=>���2�R2�;��=>Z��2T�1�A[A�M2NN=M�L2N.�92�1X2LO�<2��LR0=�ZL��NO=>��1NOLN��L���;2�0O�R=�

TL>Z0P�g=<��LN�ZLNO��;1���;=�XL=U�U;LM;�U=�1>=�M2ZR1�LN��LN��;L��1>�LM0=�L���;=�XL=U��;1���;=�R=LN��

2T� O=�=>ZLN1N��� LN� ����
�� O=<=NO�� 2N� �;=L>� M2NN=M�L2N��� 1NO� ;=NM=� �;1�� ��
�� �=>Z�� 2T� 1� A[A�

M2NN=M�L2N���1NO�LN��;=�M2NN=M�L2N�1��1�>=��0��2T��;=L>�R=LN��U;1���;=P�1>=.�9;=�M2N�>1OLM�2>P�2T�

�;L��XL=U�L���1MM2>OLN�0P���;1������1��0=1���2T��;=��=>Z��Z�����2Z=;2U�;1X=�L���R=LN��LN�XL>��=�2T�

L��� ��1NOLN�� LN� �;=� M2NN=M�L2N�� 1NO� N2�� �;1�� ��
�� 1>=� U;1�� �;=P� 1>=� RP� >=1�2N� 2T� �;=L>� R=LN��

M2NN=M�=O�1���;=P�1>=.�
Q�6T.���<>1��6;.�???���>�.�
�.�
4�6T.���<>1��6;.�???���>�.�
4�1O�TLN.�D=��L��R=�>=Z1>g=O��;1��U;1��L��;=>=�O=NL=O�L��N2���;=���R�L��=NM=�

2T�1�;L�;=>���<>=Z=�<>LNML<0=��LZ<0LML�=>��R����;=�1N102�2���<2�L�L2N�2T���M;�1�<>LNML<0=�]LT��;=>=�

��R�L���^�XL�[v[XL���;=�e2>0O�2T�O=�=>ZLN1N����2��;1��2T��;=�01�=>�XL�[v[XL��M2NM>=�=��;LN��.�
W�6T.�10�2���<>1��6;.�??���>�.�4	.�9;=��=N�=�L���;1���;=�<1>�LM�01>�R=LN��2T�1�<1>�LM�01>�2RS=M��<>=�=N���

�;=�_:;2U`�]2>�TL>���1<<=1>1NM=^�2T��;=�2RS=M�k��LN�=>L2>L�P.�
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� ���� U2�0O� R=� �=0T[=\<01N1�2>P� 1NO� �=0T[1MM2�N�LN��� L.=.� 1� TL>���

<>LNML<0=� 2>� �2Z=�;LN�� �NO=>LX1R0=�� 1� /01�2NLM� _1NP<2�;=�2N`.� ?N� U;LM;� M1�=��

�;=>=�U2�0O�;1X=� =\L��=O�1�Z�0�L<0LML�P�2T� 1R�20��=0P� ]LN� �;=� >=�<=M�� M2N�LO=>=O^�

TL>��� <>LNML<0=�� 2T� �;=� �1Z=� �=N=>10� gLNO� 1NO� LN� 100� �;=L>� �<=MLTLML�P�� U;LM;� L��

��>2N�0P�>=<��N1N���2�@=1�2N�1NO�10�2�<>2R1R0P�LZ<2��LR0=.��

q���g=�M;�2T���M;�1�<>22T�T2002U�.�

:�<<2�=�1�Z�0�L<0LML�P�2T�TL>���<>LNML<0=��2T�1�M=>�1LN�TL=0O�LN�>=�<=M���2��2Z=�

<=>��=�T=1��>=��2T�L�j��;1��L���1�Z�0�L<0LML�P�2T�TL>���<>LNML<0=��2T��;=��1Z=�gLNO��UL�;�

>=�1>O� �2� 1� M=>�1LN� TL=0O.� 5L�;=>� �;=�=� X1>L2��� TL>��� <>LNML<0=�� ;1X=� N2�;LN�� LN�

M2ZZ2N� h�1� <>LNML<0=��� 2>� �;=P� O2� ;1X=� �2Z=�;LN�� LN� M2ZZ2N.� 7 N� �;=� T2>Z=>�

��<<2�L�L2N��;=P�M2�0O�N2��R=�TL>���<>LNML<0=��2T�����M=>�1LN�TL=0O�]1�TL=0O�UL�;������

�NL�P^���LNM=��;=P�U2�0O�01Mg��;=�;1>Z2NL2���1NO�M2N�>�2���2<=>1�L2N�N=M=��1>P�

]T2>� �;=��NL�P�2T� �;=� M1��1�L2N^� LN�=TT=M�LN�� �;=� �1LO� TL=0O�1�� >=�1>O�� �;=� >=0=X1N��

1�<=M���1NO� T=1��>=�j� LNO==O�� �;=P�M2�0O�N2��=X=N�R=�Z=>=�<>LNML<0=��2T� �;=� �1LO�

�
���TL=0O��0=��102N=�TL>���<>LNML<0=��2T�L�.�62N�=h�=N�0P��;=��=M2NO�10�=>N1�LX=�Z����

R=� �>�=�� LT� �;=� LNL�L10� ��<<2�L�L2N� L�� 1�� 100� �>�=.� I��� LT� �;=P� ;1X=� �2Z=�;LN�� LN�

M2ZZ2N��1NO�O2��2�<>=ML�=0P�LN��2�T1>�1���;=P�1>=�TL>���<>LNML<0=��2T��;=��LX=N�TL=0O��

�;=N� �;=� h�=��L2N� N=M=��1>L0P� 1NO� 0=�L�LZ1�=0P� L�� <2�=O��G2U�� 1NO�e;=NM=� �;L��

M2ZZ2NN=��d� 9;=P� �;=Z�=0X=�� M1NN2�� 1MM2�N�� T2>� L�.� H2>� h�L�=� 1<1>�� T>2Z� �;=�

�=N=>10� <>LNML<0=� �;1�� �2Z=�;LN�� M1NN2�� M>=1�=� �;=�!����	
���"� 2>O=>� �2� U;LM;� L��

M2NT2>Z����;=P�M1NN2��1MM2�N��T2>�L��R=M1��=��;1��M2ZZ2NN=���2>�2>O=>�M1NN2��R=�

1� M;1NM=� >=��0�� 2T� U;1�� �;=� <>LNML<0=�� ;1<<=N� �2� R=�� R��� Z���� 2>L�LN1�=� T>2Z�

�2Z=U;=>=.��NO�LT�L��L��>=�2>�=O��;1���;=L>�R=LN��L��N=M=��1>P�1NO��;=>=T2>=��;=>=�L��

N2� h�=��L2N� 2T� �;=L>��
�������� �2� R=� 1NP�;LN�� 1�� 100�� �;=N� �;=� h�=��L2N� L�� 2N0P�

�0L�;�0P� �>1N�<2�=OY� T2>� N2U� L�� Z���� R=� 1N�U=>=O�� G2U�� 1NO�e;=>=RP� L�� �;=L>�

N=M=��1>P� R=LN�� =��1R0L�;=Oj� U;LM;� L�� 2N0P� R��� 1N2�;=>� T1M=�� 2T� �;=� �1Z=�

T�NO1Z=N�100P�<>2R0=Z.��
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9;����L��Z����R=��1LO��;1���;=�M2ZZ2NN=���]2>��;=L>�N=M=��1>P�R=LN��U;LM;�

LNX20X=���;1��M2ZZ2NN=��^�L��O=>LX1�LX=j�L��M2Z=��T>2Z��2Z=U;=>=�=0�=.��NO��;L��

L���2��=\1M�0P�LN��;=L>�M1<1ML�P�1��<>LNML<0=��2T��;=�M;2�=N�TL=0O.�G=NM=��;=P�Z����R=�

O=<=NO=N��LN��;L��M1<1ML�P�2T��;=L>��2N��2Z=�;LN��2�;=>��;1N��1NO�Z=�1<;P�LM100P�

<>L2>� �2�� �;=Z.� I��� �;=N� �;=P� M1NN2�� R=� ����
� <>LNML<0=�.� e;LM;� M2N�>1OLM��� �;=�

��<<2�L�L2N.�G=NM=� �;=>=� M1NN2��R=�Z1NP� ����
�����	������2T� �;=� �1Z=� TL=0O�� LN� �;=�

�1Z=�>=�<=M��.�e;LM;�U1���2�R=�<>2X=Nr.�

?�� L�� M2NM0�O=O� �;=N�� �;1�� �;=� R=LN�� 2T� <1>�LM�01>� O=�=>ZLN1N��� Z���� R=�

O=>LX=O�T>2Z�1N�������<>LNML<0=��LNN=>��2��;=�e2>0O�2T�A=�=>ZLN1N��.��

82U� �;=>=� L�� N2� 2�;=>� gLNO� 2T� ]T�NO1Z=N�10^� M2NN=M�L2N�� LN� U;LM;� 1�

O=�=>ZLN1N��M1N���1NO��1NO�2N�U;LM;�L��M1N�M2N�=h�=N�0P�O=<=NO��LN��2Z=�U1P�2>�

2�;=>�� T2>� L��� R=LN��� �;1N� �;=�A[A� M2NN=M�L2N.���NO� �;L��U1�� 1R2X=� �;2UN� �2� R=�

LZ<2��LR0=�� LN� 1MM2>O1NM=�UL�;� �;=� LNL�L10� ��<<2�L�L2N.�G=NM=� �;1�� ��<<2�L�L2N� L��

T10�=.��

?�� L�� �;=>=T2>=� TLN100P� M2NM0�O=O� �;1�� �;=� R=LN�� 2T� O=�=>ZLN1N��� Z����

�2Z=;2U�O=<=NO�2N��;=L>���1NOLN��LN�A[A�M2NN=M�L2N�.��NO��;=�>=10�<>2R0=Z�L���

G2Ud�

A=�=>ZLN1N���� LN� �=N=>10�� 1>=� U;1�� �;=P� 1>=� LN� XL>��=� 2T� �;=L>� �=X=>100P�

��1NOLN�� LN� �;=� T�NO1Z=N�10� M2NN=M�L2N� ;20OLN�� LN� �;=L>� >=10Zj� U;LM;�

ML>M�Z��1NM=� LNOLM1�=�� 10>=1OP� 1� M=>�1LN� <=M�0L1>� �NL�P� 2T� �;=� e2>0O� 2T�

A=�=>ZLN1N���� U;LM;� UL00� R=� Z1NLT=��=O� M0=1>0P� U;=N� �;=� N1��>=� 2T� �;1��

T�NO1Z=N�10�M2NN=M�L2N�;1��R==N�<>=ML�=0P�1�M=>�1LN=O.��
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��9;L��L���2��1P��LN��=>Z��2T�O=�=>ZLN1N�����;=��1Z=��;LN��U;LM;�U1���;2UN��2�2R�1LN�UL�;�>=�1>O��2�
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?N��;=�1R2X=�1>��Z=N����U2�<>LNML<0=��U=>=�=Z<02P=O�U;LM;�M100�T2>�1�R>L=T�

M2ZZ=N�.�

9;=�����
�L���;1��R=LN����1NO���=N=>100P�LN�N==O�2T�Z=�1<;P�LM10�=\<01N1�L2N.�

82U� �;L�� L�� �>�=�2T�R=LN��1�� ��M;��1NO�N2��2N0P� LN� >=�<=M��2T� M2NM>=�=�R=LN��� L.=.�

R=LN��OL�<01P=O�RP� M2NM>=�=� �;LN��.� I��� 2N� �;=� 2�;=>� ;1NO�� L�� �;2�0O�R=�N2�LM=O�

�;1�� L�� L��N2�� �;=��=N=>10�ML>M�Z��1NM=��;1�� �;=>=� L��R=LN��1NO�=\;LRL�L2N�2T�R=LN��

U;LM;�L��M01LZ=O��2�M100�T2>�1MM2�N�.�]9;1���2Z=�2RS=M���1>=�=��=N�L100P�RLT�>M1�=O�

LN�2� 1N� LN�=>L2>� ��RS=M�� 1NO� 1N� 2��U1>O� <>2S=M�L2N� 2>� Z1NLT=��1�L2N� i� 2>� _TL>���

1<<=1>1NM=`� i� 1�� T2>Z1� =��=NOL�� M100�� T2>� 1� M2Z<0=�=0P� OLTT=>=N�� �2>�� 2T�

=\<01N1�L2N��LT�1��100^.�?N�2�;=>�U2>O��U;1��U=�1�g��2�R=�=\<01LN=O�L��N2���;1���;=>=�

1>=�R=LN����2>� �;1���2Z=�2RS=M���1>=�=N�L�L=��1NO� �;LN��j� L�� L�� >1�;=>� �;=�<1>�LM�01>�
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